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1. Prove that the point ( —2, —1),(1,0), (4,3)and(1,2) are the

vertices of parallel-gram. Is it a rectangle?

o Watch Video Solution

2. The three vertices of a parallelogram taken in order are ( — 1, 0),

(3, 1) and (2, 2) respectively. Find the coordinates of the fourth vertex.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CFjeuPwiXSRg
https://dl.doubtnut.com/l/_fPjViK272jt2

3. If the point C( — 1, 2) divides internally the line segment joining

A(2,5) and B in ratio 3:4, find the coordinates of B.

o Watch Video Solution

4. Determine the ratio in which the line 3z +y — 9 = 0 divides the

segment joining the points (1,3) and (2,7) :

A 1:2
B. 2:3
C.34

D.4:5

Answer: null

o Watch Video Solution



https://dl.doubtnut.com/l/_fPjViK272jt2
https://dl.doubtnut.com/l/_biuTciFJ8glH
https://dl.doubtnut.com/l/_V06DrilkmunE
https://dl.doubtnut.com/l/_0IH4tDB2NOUa

5. The coordinates of one end point of a diameter of a circle are
(4, — 1) and the coordinates of the centre of the circle are (1, — 3) .

Find the coordinates of the other end of the diameter.

° Watch Video Solution

6.1f A(5, — 1), B( — 3, — 2)and( — 1, 8) are the vertices of triangle
ABC, find the length of median through A and the coordinates of the

centroid.

o Watch Video Solution

7.0f A(—2, — 1), B(a,0),C(4,b) and D(1, 2) are the vertices of a

parallelogram, find the values of a and b.

o Watch Video Solution



https://dl.doubtnut.com/l/_0IH4tDB2NOUa
https://dl.doubtnut.com/l/_XI0aEgtrvizy
https://dl.doubtnut.com/l/_KqGjlWQbZXAr

8. if the coordinates of the mid points of the Sides of a triangle are

(1,2), (0, — 1) and (2, — 1).Find the coordinates of its vertices

o Watch Video Solution

9. Prove analytically that the line segment joining the middle points of

two sides of a triangle is equal to half of the third side.

o Watch Video Solution

10. Prove that the lines joining the middle points of the opposite sides
of a quadrilateral and the join of the middle points of its diagonals

meet in a point and bisect one another

o Watch Video Solution



https://dl.doubtnut.com/l/_zWujrc6osOkp
https://dl.doubtnut.com/l/_Mz3tgVXPGeJv
https://dl.doubtnut.com/l/_BTWiKPfyJegF

11. The vertices of a ABC are A(5,5), B(1,5)andC(9,1) . A line is

drawn to intersect side AB and AC at P and Q respectively, such that

AP A
1B = A_g = % Find the length of the line segment PQ.

o Watch Video Solution

12. If the coordinates of the mid-points of the sides of a triangle are

(3,4), (4,6)and(5, 7), find its vertices.

° Watch Video Solution

13. A(3,2)andB( — 2,1) are two vertices of a triangle ABC whose

5 1
centroid G has the coordinates (g, — §) Find the coordinates of

the third vertex C of the triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_vS4N1Ma53IHU
https://dl.doubtnut.com/l/_TJ1M5KXLzbHF
https://dl.doubtnut.com/l/_oH04QuewV5f9

14. If the coordinates of the mid-points of the sides of a triangle are

(1,1), (2, — 3)and(3, 4) . Find its centroid.

o Watch Video Solution

15. Prove that the area of triangle whose vertices are

(t, t —2), (t+2,t+ 2) and (¢t + 3, t) is independent of ¢

o Watch Video Solution

16. If D, EandF are the mid-points of sides BC, CA and AB respectively
of a ABC, then using coordinate geometry prove that Area of ADEF=

1/4 (Area of AABC)

o Watch Video Solution



https://dl.doubtnut.com/l/_ZgMsyJ3K1RDI
https://dl.doubtnut.com/l/_tCiVcKaoREZV
https://dl.doubtnut.com/l/_P00CWtUmhKUZ

17. For what value of k are the points

(k,2 —2k)( — k+ 1,2k)and( — 4 — k, 6 — 2k) are collinear?

o Watch Video Solution

18. If the points P, Q(z,7), R, S(6,y) in this order divide the line

segment joining A(2, p)andB(7, 10) in 5 equal parts, find z, yandp-

o Watch Video Solution

19.1f A(2,2), B( — 4, — 4)andC(5, — 8) are the vertices of a triangle,

then the lengthof the median through vertex C'is.

o Watch Video Solution

20. The midpoint P of the line segment joining the points A(-10, 4) and

B(-2, 0) lies on the line segment joining the points C(-9, -4) and D(-4, y).


https://dl.doubtnut.com/l/_I0bQQ7vMKHuI
https://dl.doubtnut.com/l/_uwtiiXtxFy1U
https://dl.doubtnut.com/l/_4CcbdYK9DOXS
https://dl.doubtnut.com/l/_LiYWJP6gDGGp

Find the ratio in which P divides CD. Also find the value of y.

o Watch Video Solution

21. If R(z,y) is a point on the line segment joining the points

P(a, b)andQ(b, a), then provethatz +y=a +b

o Watch Video Solution

22. If the points A( — 1, — 4), B(b, c)andC(5, — 1) are collinear and

2b + ¢ = 4, find the values of band ¢

o Watch Video Solution

23.The perimeter of a triangle with vertices (0,4), (0,0) and (3,0) is

A.7 +'sqrt(5)’

B.12


https://dl.doubtnut.com/l/_LiYWJP6gDGGp
https://dl.doubtnut.com/l/_a2MB7XCzIEv1
https://dl.doubtnut.com/l/_iC8I9mKV1UeH
https://dl.doubtnut.com/l/_1hXYqE9lUIv2

C.7

D.5

Answer: null

o Watch Video Solution

24. A point P divides the line segment joining the points

AP
A(3, —5)andB( — 4, 8) such that PE-1 If P lies on the line

x + y = 0, then find the value of &

o Watch Video Solution

25. If G be the centroid of a triangle ABC, prove that,

AB® + BC? + CA® = 3(GA? + GB® + GC?)

o Watch Video Solution



https://dl.doubtnut.com/l/_1hXYqE9lUIv2
https://dl.doubtnut.com/l/_Q6AWxXKdUqF2
https://dl.doubtnut.com/l/_1LhNH1nab2OM
https://dl.doubtnut.com/l/_5GWjXHhhdg2P

26.1f A(—3,5),B(—2, —17),C(1, — 8)andD(6, 3) are the vertices

of a quadrilateral ABCD find its area.

o Watch Video Solution

27. The line segment joining the points P(3,3)andQ(6, — 6) is
trisected at the points A and B such that A is nearer to P. If A also lies on

the line given by 2x + y 4+ k = 0, find the value of k-

o Watch Video Solution

28. If the area of ABC formed by A(z,y), B(1,2)andC(2,1) is 6

squae units, then provethatz +y=150r ,2+y+9=0

o Watch Video Solution

29. Show that the points (a,a),( —a, —a) and ( — /3a, \/§a) are

the vertices of an equilateral triangle. Also, find its area.


https://dl.doubtnut.com/l/_5GWjXHhhdg2P
https://dl.doubtnut.com/l/_udJHBOz8oAnG
https://dl.doubtnut.com/l/_YGpEzJglgzgJ
https://dl.doubtnut.com/l/_HKNcRtaYCmbp

o Watch Video Solution

30. The x-coordinate of a point P is twice its y-coordinate. If P is
equidistant from Q(2, — 5)andR( — 3, 6), then find the coordinates

of P.

o Watch Video Solution

31.1f A(4, — 6), B(3, — 2)andC(5, 2) are the vertices of " A B C, and
AD is median then verify the fact that a median of a triangle ABC divides

it into two triangles of equal areas.

o Watch Video Solution

32. Three vertices of a parallelogram ABCD are
A3, —4),B(—1, —3)andC( — 6,2)- Find the coordinates of

vertiex D and find the area of parallelogram ABCD.



https://dl.doubtnut.com/l/_HKNcRtaYCmbp
https://dl.doubtnut.com/l/_drhrmfKXrQxU
https://dl.doubtnut.com/l/_K8viJv9QkwGM
https://dl.doubtnut.com/l/_HyOcYNwN174D

| ° Watch Video Solution

33. Two uniform spheres A (Hollow) and B (solid) of same radius R (

o Watch Video Solution

34. Let ABCD be a square of side 2a. Find the coordinates of the vertices
of this square when (i) A coincides with the origin and AB and AD are
along OX and OY respectively. (ii) The centre of the square is at the
origin and coordinate axes are parallel to the sides AB and AD

respectively

o Watch Video Solution

35.Find the coordinates of the vertices of an equilateral triangle of side

2a as shown in Figure.

o Watch Video Solution



https://dl.doubtnut.com/l/_HyOcYNwN174D
https://dl.doubtnut.com/l/_2bm7dRMARsjp
https://dl.doubtnut.com/l/_0K8CJyKc8DnH
https://dl.doubtnut.com/l/_tknqdbZgb3L0

36. The area of the triangle formed by
(a,b+¢), (bc+ a)and(c,a+b) is (@ a+b+c (b) abc (c)

(a+b+c)(d)o

o Watch Video Solution

37. If the points A(4, 3)andB(z,5) are on the circle with centre

0O(2, 3), find the value of z-

o Watch Video Solution

38. Find the equation of the perpendicular bisector of AB, where A and B
are the points (3,6) and (— 3, 4) respectively. Also, find its points of

intersection with (i) x-axis (ii) y-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_tknqdbZgb3L0
https://dl.doubtnut.com/l/_fHLhcvfPGFxO
https://dl.doubtnut.com/l/_LHhG6AP74cdo
https://dl.doubtnut.com/l/_gq9KlG0zjQOT
https://dl.doubtnut.com/l/_K9W645aNShuw

39. If the point (z, y) is equidistant from the points (a + b, b — a) and

(a —b,a +b),prove that bx = ay

o Watch Video Solution

40. Find the distance between the points: (i)P(—6,7) and
Q(—1, —5) (it)R(a + b,a — b) and S(a—b, —a—0»)

(ii1) A(atl, 2at;) and B(at2, 2ats)

o Watch Video Solution

41. Find the angle subtended at the origin by the line segment whose

end points are (0, 10) and (10 ,0)

o Watch Video Solution



https://dl.doubtnut.com/l/_K9W645aNShuw
https://dl.doubtnut.com/l/_JCaLRntsc1TI
https://dl.doubtnut.com/l/_ma5TfRNnpS6z
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42. Prove that the points (2, 3), ( — 4, — 6)and (1, 5) do not form a

triangle.

o Watch Video Solution

43. Show that the points ( — 3,2), ( — 5, — 5), (2, — 3) and (4, 4) are

the vertices of a rhombus. Find the area of this rhombus.

o Watch Video Solution

44. The two opposite vertices of a square are (1,-6)and (5,4). Find the

coordinates of the other two vertices.

o Watch Video Solution

45.1n an APthe sum of m terms of an AP is n and sum of n terms of AP

is m,ithen prove that sum of (m+n) terms of AP is-(m+n)


https://dl.doubtnut.com/l/_SCnSyhS2jYSA
https://dl.doubtnut.com/l/_SfQOrwJeN4KO
https://dl.doubtnut.com/l/_djw7j7N1epsd
https://dl.doubtnut.com/l/_xuB8dtAngBWd

o Watch Video Solution

46. In the seating arrangement of desks in a classroom three studens
Rohini, Sandhya and Bina are seated at A(3, 1), B(6,4)andC(8, 6)- Do

you think they are seated in al line?

o Watch Video Solution

47.Find the coordinates of points which trisect the line segment joining

(1, — 2)and( — 3, 4).

o Watch Video Solution

48. If the point P(2,2) is equidistant from the points

A( —2,k)andB( — 2k, — 3) , find k- Also, find the length of AP.

o Watch Video Solution



https://dl.doubtnut.com/l/_xuB8dtAngBWd
https://dl.doubtnut.com/l/_c8xLEbWuNF5c
https://dl.doubtnut.com/l/_4i2WivxL1uJr
https://dl.doubtnut.com/l/_213GBJEobxpd
https://dl.doubtnut.com/l/_aUNjUgm40Air

5
joining the points A(3,5)andB( — 3, — 2)7?
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49. In what ratio does the point C’<g, —) divide the line segment

o Watch Video Solution

50. Find the ratio in which the line segment joining A(1, — 5) and
B( — 4, 5) is divided by the x-axis. Also find the coordinates of the

point of division.

o Watch Video Solution

51. If a # b # ¢, prove that the points (a, az), (b, bz), (c, cz) can

never be collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_aUNjUgm40Air
https://dl.doubtnut.com/l/_hoCQQZfBClXA
https://dl.doubtnut.com/l/_REr7LzMMJsnP

52. A point A divides the join of P( — 5,1) and Q(3, 5) in the ratio k: 1
. Then the integral value of k for which the area of ABC, where B is

(1,5) and C'is (7, — 2),is equal to 2 units in magnitude is___

o Watch Video Solution

53. Prove that the mid-point of the hypotenuse of right angled triangle

is equidistant from its vertices.

o Watch Video Solution

54. Show that the points (1, — 1), (5, 2) and (9, 5) are collinear.

o Watch Video Solution

55. Prove that the diagonals of a rectangle bisect each other and are

equal.


https://dl.doubtnut.com/l/_kTcsCq3l9QPY
https://dl.doubtnut.com/l/_084sWEU6f1M1
https://dl.doubtnut.com/l/_i6Nmb9zhMZQy
https://dl.doubtnut.com/l/_9tIeo8GmYT4V

o Watch Video Solution

56. Using analytical geometry, prove that the diagonals of a rhombus

are perpendicular to each other.

o Watch Video Solution

57. Find the area of the triangle whose vertices are

(Z) (2’ 3)7 ( -1, 0)7 (27 - 4)(7’7’)( - 57 - 1)7 (37 - 5)7 (57 2)

o Watch Video Solution

58. If the vertices of a triangle have rational coordinates, then prove

that the triangle cannot be equilateral.

o Watch Video Solution



https://dl.doubtnut.com/l/_9tIeo8GmYT4V
https://dl.doubtnut.com/l/_XFNTswuBGGOQ
https://dl.doubtnut.com/l/_lVzwzwJvOKo4
https://dl.doubtnut.com/l/_IWO8chQ81F0G

59. Find the area of the triangle ABC with A(1, — 4) and mid-points of

sides through A being (2, — 1)and(0, — 1)

o Watch Video Solution

60. If P(xz,y) is any point on

the line joining the point
x Y
A(a, 0)andB(0, b), then show that s 7= 1.
o Watch Video Solution

61. If  +2 is a factor of 22>+ az + 2b and a + b = 4, then (a)

a=1,b0=3b)a=3,b=1(c)a= —1,b=5(d)a=5, b= —1

o Watch Video Solution

62. If the point (x, 4) lies on a circle whose centre is at the origin and

radius is 5,then z = +£5(b) £3(c) 0(d) 14


https://dl.doubtnut.com/l/_gqQnL2If2FH6
https://dl.doubtnut.com/l/_R02nyNzVdDVG
https://dl.doubtnut.com/l/_tcfducs2OVuT
https://dl.doubtnut.com/l/_5DarIvoDFp9j

o Watch Video Solution

63. If three points (1, y1), (22, ¥2), (3, y3) lie on the same line, prove

at Y2 — Y3 i Ys — 4 Y1 — 2 —0
Toa3 Tr3T1 T1I2

th

o Watch Video Solution

64.If G be the centroid of a triangle ABC and P be any other point in the

plane prove that PA%? + PB? + PC? = GA® + GB? + GC? + 3GP?

© Watch Video solution

65.(a) a®> + b (b) a + b (c) a®> — b? (d) Va® + b?

o Watch Video Solution



https://dl.doubtnut.com/l/_5DarIvoDFp9j
https://dl.doubtnut.com/l/_x9Vnl8hA86nG
https://dl.doubtnut.com/l/_L4CMJk63CpfU
https://dl.doubtnut.com/l/_kZwUazFwH4bD

66. Two vertices of a triangle are (3, — 5)and( — 7, 4). If its centroid is

(2, — 1), find the third vertiex.

o Watch Video Solution

67.1f A(5,2), B(2, — 2)andC( — 2, t) are the vertices of right angles

triangle with /B = 90°, then find the value of ¢.

o Watch Video Solution

68. The length of a line segment is of 10 units and the coordinates of
one end-point are (2, — 3). If the abscissa of the other end is 10, find

the ordinate of the other end.

o Watch Video Solution



https://dl.doubtnut.com/l/_2053MkizifD2
https://dl.doubtnut.com/l/_2P78s8T7CUFA
https://dl.doubtnut.com/l/_aYOUO3ukQECJ

69. Find the coordinates of the circumcentre of the triangle whose

vertices are (8, 6), (8, — 2) and (2, — 2) Also, find its circum-radius.

o Watch Video Solution

70. Let the opposite angular points of a square be (3,4) and (1, — 1) .

Find the coordinates of the remaining angular points.

o Watch Video Solution

71.Show that A(6, 4), B(5, — 2) and C(7, — 2) are the vertices of an

isosceles triangle. Also, find the length of the median through A.

o Watch Video Solution

72.Points A( — 1, y) and B(5, 7) lie on a circle with centre O(2, — 3y).

Find the values of y. Hence, find the radius of the circle.


https://dl.doubtnut.com/l/_kgdtpeCBG3X4
https://dl.doubtnut.com/l/_kNCRbPdOQirD
https://dl.doubtnut.com/l/_sFrzkCwKuBcF
https://dl.doubtnut.com/l/_PzPMUzMXbQdG

o Watch Video Solution

73.Show that the points (1, — 1), (5, 2) and (9, 5) are collinear.

o Watch Video Solution

74. Show that four points (0, — 1), (6,7), ( — 2, 3)and(8, 3) are the

vertices of a rectangle. Also, find its area.

o Watch Video Solution

75. If P and Q are two points whose coordinates are

2
(at2, 2at) and(%, Ta) respectively and S is the point (a,0). Show that

1

1
<p + 0 is independent of t.

o Watch Video Solution



https://dl.doubtnut.com/l/_PzPMUzMXbQdG
https://dl.doubtnut.com/l/_vTjaQQlQg3bY
https://dl.doubtnut.com/l/_N0hjhPvzH53s
https://dl.doubtnut.com/l/_hBZUitBsqAIv

76. If the two vertices of an equilateral triangle be (0, 0), (3, \/g), find

the third vertex.

o Watch Video Solution

77.The base AB of two equilateral triangles ABC and ABC'’ with side
2a lies along the X -axis such that the mid-point of AB is at the origin
as shown in . Find the coordinates of the vertices C' and C'’ of the

triangles.

o Watch Video Solution

78. On which axis do the following points lie? P(5, 0) (ii) Q(0, — 2)

(iii) R( — 4, 0) (iv) S(0, 5)

o Watch Video Solution



https://dl.doubtnut.com/l/_MXrBaPS0r5bE
https://dl.doubtnut.com/l/_OFCQb7BM3NMh
https://dl.doubtnut.com/l/_28LVjMiyA0Sg

79. Find the value of z , if the distance between the points (z, — 1)

and (3, 2)is 5.

o Watch Video Solution

80. Find the point on the xaxis which is equidistant from

(2, 5)and (— 2, 9)

o Watch Video Solution

81. Find a point on the y-axis which is equidistant from the point

A(6, 5) and B( — 4, 3).

o Watch Video Solution

82. Do the points A(3, 2), B( —2, — 3)and C(2, 3) form a triangle?

If so, name the type of triangle formed.


https://dl.doubtnut.com/l/_Ix5akuayhp8F
https://dl.doubtnut.com/l/_yHGUbU73Z0q0
https://dl.doubtnut.com/l/_NKXfJpAp9N56
https://dl.doubtnut.com/l/_FWegcoi52Btg

o Watch Video Solution

8. Prove that the points ( —3, 0), (1, —3) and (4, 1) are the
vertices of an isosceles right-angled triangle. Find the area of this

triangle.

o Watch Video Solution

84.If P(2, —1), Q(3,4), R(—2,3) and S(—3, —2) be four
points in a plane, show that PQR.S is a rhombus but not a square. Find

the area of the rhombus.

o Watch Video Solution

85.Find the co-ordinates of the centre of the circle passing through the

points (0, 0),( — 2, 1) and ( — 3, 2). Also find its radius.

o Watch Video Solution



https://dl.doubtnut.com/l/_FWegcoi52Btg
https://dl.doubtnut.com/l/_DokFHSLRkWAE
https://dl.doubtnut.com/l/_d1cV210mKNy7
https://dl.doubtnut.com/l/_1KmVXQB6W1iy

86. If (-4, 0) and (4,0) are two vertices of an equilateral triangle, find the

coordinates of its third vertex.

o Watch Video Solution

87. Find the distance between the following pair of points: ( — 6, 7)

and(—1, —5)(i)(a+b, b+c)and(a—0b, c—D)

o Watch Video Solution

88. Find the distance between the following pair of points:

(asina, — bcosa)and ( — acosa, bsina) (ii) (a, 0) and (0, b)

o Watch Video Solution



https://dl.doubtnut.com/l/_1KmVXQB6W1iy
https://dl.doubtnut.com/l/_4SsABR7pNacR
https://dl.doubtnut.com/l/_R6SV9CBTLAYl
https://dl.doubtnut.com/l/_KYN9tcbZCRcD

89. Find the value of a when the distance between the points (3, a) and

(4, 1) is 4/10.

o Watch Video Solution

90. If the points (2, 1) and (1, — 2) are equidistant from the point

(z, y) ,showthatz + 3y = 0.

o Watch Video Solution

91. Find the values of z, y if the distances of the point (z, y) from

( — 3, 0) as well as from (3, 0) are 4.

o Watch Video Solution

92. Show that the points (—4, —1), (-2, —4), (4, 0) and

(2, 3) are the vertices points of a rectangle.


https://dl.doubtnut.com/l/_i8V7noPeUTxc
https://dl.doubtnut.com/l/_TqsMm9bYQvmx
https://dl.doubtnut.com/l/_FE53GwCpzivD
https://dl.doubtnut.com/l/_8MsiNOcreBLg

o Watch Video Solution

93. Show that the points A(1, —2), B(3, 6), C(5, 10) and D(3, 2)

are the vertices of a parallelogram.

o Watch Video Solution

94. Show that the points (1, 7), (4,2), ( — 1, — 1)and( — 4, 4) are the

vertices of a square.

o Watch Video Solution

95. Prove that the points (3, 0), (6, 4) and (-1, 3) are the vertices of a right

angled isosceles triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_8MsiNOcreBLg
https://dl.doubtnut.com/l/_42mOyKXVSY4r
https://dl.doubtnut.com/l/_v40j9uHccwy3
https://dl.doubtnut.com/l/_8uqKp6ipL75T

96. Prove that (2, — 2), ( — 2, 1) and (5, 2) are the vertices of a right
angled triangle. Find the area of the triangle and the length of the

hypotenuse.

o Watch Video Solution

97. Prove that the points (2a,4a), (2a, 6a) and (2a + /3a, 5a) are

the vertices of an equilaterall triangle whose side is 2a

o Watch Video Solution

98. An equilateral triangle has two vertices at the points (3,4) and

( — 2, 3), find the coordinates of the third vertex.

o Watch Video Solution



https://dl.doubtnut.com/l/_7BrYPDBzOsKN
https://dl.doubtnut.com/l/_phVmEVpdkDtM
https://dl.doubtnut.com/l/_K97lj58w9ago

99. If P(2,-1), Q (3,4), R(-2,3) and S (-3,-2) are four points in a plane, show

that PQRS is a rhombus but not a square.

o Watch Video Solution

100. Two vertices of an isosceles triangle are (2, 0) and (2, 5) . Find the

third vertex if the length of the equal sides is 3.

o Watch Video Solution

101. Which point on x-axis is equidistant from (5, 9) and (-4, 6)

o Watch Video Solution

102. Prove that the points ( — 2, 5), (0, 1) and (2, — 3) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_JUVKoaWU0Uuv
https://dl.doubtnut.com/l/_sWHf17qhLCqe
https://dl.doubtnut.com/l/_Ff7xQw17cqux
https://dl.doubtnut.com/l/_6wFm6L77KBUa

103. The coordinates of the point P are ( — 3, 2) . Find the coordinates
of the point @ which lies on the line joining P and origin such that

OP = 0Q.

o Watch Video Solution

104. Which point on y-axis is equidistant from (2, 3) and ( — 4, 1) ?

o Watch Video Solution

105. The three vertices of a parallelogram are (3, 4), (3, 8) and (9, 8) .

Find the fourth vertex.

o Watch Video Solution

106. Find the circumcentre of the triangle whose vertices are

(=2, —3),(-1,0), (7, —6).


https://dl.doubtnut.com/l/_BdzGHVzEMKap
https://dl.doubtnut.com/l/_AlPV7xgsbHnk
https://dl.doubtnut.com/l/_bhDZlcSFyZBp
https://dl.doubtnut.com/l/_B2hGBGbSOduY

o Watch Video Solution

107. Find the centre of the circle passing through (5, — 8), (2, —9)

and (2, 1).

o Watch Video Solution

108. Find the value of & , if the point P(0, 2) is equidistant from (3, k)

and (k, 5) .

o Watch Video Solution

109. Find the coordinates of the circumcentre of the triangle whose
vertices are (3,0), (—1, —6) and (4, —1) . Also, find its

circumradius.

o Watch Video Solution



https://dl.doubtnut.com/l/_B2hGBGbSOduY
https://dl.doubtnut.com/l/_UbjHD9trjIF4
https://dl.doubtnut.com/l/_dA8LxxnDeQVE
https://dl.doubtnut.com/l/_56QoveYtQ23E
https://dl.doubtnut.com/l/_MRiJJ7ftrWht

110. Find a point on the x-axis which is equidistant from the points

(7, 6)and (— 3, 4).

o Watch Video Solution

111. Show that the points A(5, 6), B(1, 5), C(2, 1) and D(6, 2) are

the vertices of a square.

o Watch Video Solution

112. Prove that the points A(2, 3), B( -2, 2), C(—1, —2), and

D(3, — 1) are the vertices of a square ABCD .

o Watch Video Solution

113. Find the point on x-axis which is equidistant from the points

(—2,5)and (2, —3).


https://dl.doubtnut.com/l/_MRiJJ7ftrWht
https://dl.doubtnut.com/l/_cHQiD98XZZAi
https://dl.doubtnut.com/l/_2KWUL72OiMLf
https://dl.doubtnut.com/l/_OGt49jzuGujw

o Watch Video Solution

114. Find the value of x such that PQ = QR where the coordinates of

P, Qand Rare (6, —1),(1, 3)and (z, 8) respectively.

o Watch Video Solution

115. Prove that the points (0, 0), (5, 5) and ( — 5, 5) are the vertices

of aright isosceles triangle.

o Watch Video Solution

116. If the point P(z, y) is equidistant from the points A(5, 1) and

B(1, 5) ,provethatz = y.

o Watch Video Solution



https://dl.doubtnut.com/l/_OGt49jzuGujw
https://dl.doubtnut.com/l/_Lc4HeKc5ou0p
https://dl.doubtnut.com/l/_fKDOjdTyVre8
https://dl.doubtnut.com/l/_OnefkLihpvMb

17.1f Q(0, 1) is equidistant from P(5, — 3) and R(zx, 6) , find the

values of x . Also, find the distances QR and PR .

o Watch Video Solution

118. Find the values of y for which the distance between the points

P(2, —3)and Q(10, y) is 10 units.

o Watch Video Solution

19. Find the centre of a circle passing through the points

(6, —6), (3, —7)and (3, 3).

o Watch Video Solution

120. Two opposite vertices of a square are ( — 1, 2) and (3, 2) . Find

the coordinates of other two vertices.


https://dl.doubtnut.com/l/_VWI3nVAHnJ9X
https://dl.doubtnut.com/l/_XfaOSdeKeGHt
https://dl.doubtnut.com/l/_danZwNHB8nZQ
https://dl.doubtnut.com/l/_Tear7iatryol

o Watch Video Solution

121. Name the quadrilateral formed, if any, by the following points, and

give reasons for your answers:
A(—-1, —2), B(1,0), C(-1,2), D(—3,0) (ii)
A(—3,5), B(3, 1), C(0, 3), D(—1, —4) (iii)

A(4, 5), B(7, 6), C(4, 3), D(1, 2)

o Watch Video Solution

122. Find the equation of the perpendicular bisector of the line segment

joining points (7, 1) and (3, 5) .

o Watch Video Solution

123. Prove that the points (3, 0), (4, 5), (—1, 4) and (-2, —1),

taken in order, form a rhombus. Also, find its area.



https://dl.doubtnut.com/l/_Tear7iatryol
https://dl.doubtnut.com/l/_NZPINEWdFmT2
https://dl.doubtnut.com/l/_AyAW5U3qJfxE
https://dl.doubtnut.com/l/_sSYMsqF4uQp3

| o Watch Video Solution

124. Find a point on y-axis which is equidistant from the points

(5, —2)and (—3, 2).

° Watch Video Solution

125. Find a relation between x and y such that the point (z, y) is

equidistant from the points (3, 6) and ( — 3, 4)

o Watch Video Solution

126. If a point A(0, 2) is equidistant from the points B(3, p) and

C(p, 5) ,then find the value of p.

o Watch Video Solution



https://dl.doubtnut.com/l/_sSYMsqF4uQp3
https://dl.doubtnut.com/l/_T3yn27sj1w99
https://dl.doubtnut.com/l/_KkUlxTJIojCq
https://dl.doubtnut.com/l/_ZBt6CKoJv7l0

127. Show that the points A(7, 10), B(-2, 5) and C(3, -4) are the vertices of

an isosceles right triangle.

o Watch Video Solution

128. If the point P(x, 3) is equidistant from the points A(7, — 1) and

B(6, 8),find the value of z and find the distance AP .

o Watch Video Solution

129.1f A(3, y) is equidistant from points P(8, — 3) and Q(7, 6) , find

the value of y and find the distance AQ .

o Watch Video Solution

130. If the point A(0, 2) is equidistant from the points B(3, p) and

C(p, 5),find p.Also, find the length of AB.


https://dl.doubtnut.com/l/_xlRUThbabw7K
https://dl.doubtnut.com/l/_F9UeVfRJwbFr
https://dl.doubtnut.com/l/_2CDXaszJpchM
https://dl.doubtnut.com/l/_tFsGTrJ4et7S

o Watch Video Solution

131.1f the point P(k — 1, 2) is equidistant from the points A(3, k) and

B(k, 5),find the values of k .

o Watch Video Solution

132. Find the coordinates of the points which divides the line segment

joining the points (6, 3) and ( — 4, 5) in the ratio 3 : 2 internally.

o Watch Video Solution

133. In what ratio does the y-axis divide the line segment joining the
point P( — 4, 5) and Q(3, — 7) ? Also, find the coordinates of the

point of intersection.

o Watch Video Solution



https://dl.doubtnut.com/l/_tFsGTrJ4et7S
https://dl.doubtnut.com/l/_7TRwFCapGoX2
https://dl.doubtnut.com/l/_89B2HiB1fA1m
https://dl.doubtnut.com/l/_exhLz5lJc2Zt
https://dl.doubtnut.com/l/_yRNOj1xwcBDt

134. Find the ratio in which the point ( — 3, p) divides the line segment

joining the points ( — 5, —4) and ( — 2, 3) . Hence, find the value of p

o Watch Video Solution

135. Point P divides the line segment joining the points A( — 1, 3) and

AP k . .
B(9, 8) such that BPp -1 If P lies on thelinex —y+2 =0, find

the value of k.

o Watch Video Solution

136. Point P divides the line segment joining the points

AP 1 _ _
A(2,1) and B(5, — 8) such that AB = 3 If P lies on the line 2x -y

+ k =0, find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_yRNOj1xwcBDt
https://dl.doubtnut.com/l/_PIYsFJCThTQO
https://dl.doubtnut.com/l/_OS3gBVMXT4uw
https://dl.doubtnut.com/l/_70lMmsdWXDdk

137.Prove that (4, — 1), (6, 0), (7, 2) and (5, 1) are the vertices of a

rhombus. Is it a square?

o Watch Video Solution

138. If the points A(6, 1), B(8, 2), C(9, 4) and D(p, 3) are the vertices of a

parallelogram, taken in order, find the value of p.

° Watch Video Solution

139. Find the lengths of the medians of a ABC whose vertices are

A(7, —3), B(5, 3)and C(3, —1).

o Watch Video Solution

140. Find the coordinates of the point which divides the line segment

joining ( — 1, 3) and (4, — 7) internallyin the ratio 3:4.



https://dl.doubtnut.com/l/_70lMmsdWXDdk
https://dl.doubtnut.com/l/_saxE5l2LkZRy
https://dl.doubtnut.com/l/_JLJLm560Dq8G
https://dl.doubtnut.com/l/_LOK3r8rzfdkW

| o Watch Video Solution

141. Find the points of trisection of the line segment joining the points:
(5, —6) and (—7,5) (i) (3, —2) and (-3, —4) (i) (2, —2)

and (—7, 4).

o Watch Video Solution

142. Find the coordinates of the point where the diagonals of the
parallelogram formed by joining the points

(-2, —1), (1, 0), (4, 3)and (1, 2) meet.

o Watch Video Solution

143. Prove that the points (3, — 2), (4, 0), (6, —3) and (5, —5)

are the vertices of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_LOK3r8rzfdkW
https://dl.doubtnut.com/l/_NlH6mN4yMsfW
https://dl.doubtnut.com/l/_PuNZcOZSvrY6
https://dl.doubtnut.com/l/_Hp9N8ZKgkJQs

144. Three consecutive vertices of a parallelogram are

(—2, —1), (1, 0) and (4, 3) .Find the fourth vertex.

° Watch Video Solution

145. The three vertices of a parallelogram ABCD taken in order are A(3,

-4), B(-1,-3) and C(-6, 2). Find the coordinates of the fourth vertex D.

o Watch Video Solution

146. Find the ratio in which the point (2, y) divides the line segment

joining the points A( — 2, 2) and B(3, 7) . Also, find the value of y.

o Watch Video Solution



https://dl.doubtnut.com/l/_Hp9N8ZKgkJQs
https://dl.doubtnut.com/l/_yekkpdhvIo4H
https://dl.doubtnut.com/l/_xfYuee3vapGM
https://dl.doubtnut.com/l/_93IPCp8lM8uX

147. If A(—1, 3), B(l, —1) and C(5, 1) are the vertices of a

triangle ABC', what is the length of the median through vertex A ?

o Watch Video Solution

148. If the coordinates of the mid-points of the sides of a triangle are

(1, 1), (2, — 3)and (3, 4),find the vertices of the triangle.

o Watch Video Solution

149. If a vertex of a triangle be (1, 1) and the middle points of the sides

through it be ( — 2, 3) and (5, 2), find the other vertices.

o Watch Video Solution

150. In what ratio is the line segment joining the points A(-2, -3) and B(3,

7) divided by the y-axis? Also, find the coordinates of the point of


https://dl.doubtnut.com/l/_Zi7Ap3Xu6Ego
https://dl.doubtnut.com/l/_A21IwvYOMpWS
https://dl.doubtnut.com/l/_gtWpvmEsBfD1
https://dl.doubtnut.com/l/_ksKPCntTuCCs

division.

o Watch Video Solution

151. In what ratio is the line segment joining (—3, —1) and

(—8, —9)divided at the point ( — 5, —21/5)?

o Watch Video Solution

152. If the middle point of the line segment joining (3,4) and (k, 7) is

(z,y) and 2z + 2y + 1 = 0, find the value of k.

o Watch Video Solution

153. In what ratio does the line x -y - 2 = O divides the line segment

joining (3,-1) and (8,9) ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ksKPCntTuCCs
https://dl.doubtnut.com/l/_DxskxiqWBZ0O
https://dl.doubtnut.com/l/_Q06VhNjQWYGx
https://dl.doubtnut.com/l/_FijbkNxiKCXF

154. Find the ratio in which the line segment joining ( — 2, — 3) and
(5, 6) is divided by (i) x-axis (ii) y-axis. Also, find the coordinates of the

point of division in each case.

o Watch Video Solution

155. Prove that the points (4, 5), (7, 6), (6, 3), (3, 2) are the

vertices of a parallelogram. Is it a rectangle.

o Watch Video Solution

156. Prove that (4, 3), (6, 4), (5, 6) and (3, 5) are the angular points

of a square.

o Watch Video Solution



https://dl.doubtnut.com/l/_1HB8fzpys44n
https://dl.doubtnut.com/l/_eQHccvs73PEv
https://dl.doubtnut.com/l/_MqmqltZBoNvo

157. Show that the points (—4, —1), (-2, —4), (4, 0) and

(2, 3) are the vertices points of a rectangle.

o Watch Video Solution

158. Find the lengths of the medians of a triangle whose vertices are

A(-1,3), B(1, —1)and C(5, 1).

o Watch Video Solution

159. Three vertices of a parallelogram are
(a+0b, a—>b), (2a+b, 2a —b), (a—b, a+b) . Find the fourth

vertex.

o Watch Video Solution



https://dl.doubtnut.com/l/_zb4wfhYP3vr0
https://dl.doubtnut.com/l/_91ar4iRSNwvn
https://dl.doubtnut.com/l/_gYPqhWIMutzn

160. If two vertices of a parallelogram are (3, 2), ( — 1, 0) and the

diagonals cut at (2, — 5), find the other vertices of the parallelogram.

o Watch Video Solution

161. If the points (—2, —1), (1, 0), (z, 3) and (1, y) form a

parallelogram, find the values of  and y .

o Watch Video Solution

162. The points A(2, 0), B(9, 1), C(11, 6) and D(4, 4) are the
vertices of a quadrilateral ABCD . Determine whether ABCD is a

rhombus or not.

o Watch Video Solution



https://dl.doubtnut.com/l/_pyqKBD3LOQAt
https://dl.doubtnut.com/l/_tDBrF8dYmARq
https://dl.doubtnut.com/l/_ifMp9OuAYjmD

163. If three consecutive vertices of a parallelogram are

(1, —2), (3, 6)and (5, 10),find its fourth vertex.

o Watch Video Solution

164. If the points A(a, — 11), B(5, b), C(2, 15) and D(1, 1) are

the vertices of a parallelogram ABCD , find the values of a and b .

o Watch Video Solution

165. If the coordinates of the mid-points of the sides of a triangle be
(3, —2), (—3,1) and (4, — 3) , then find the coordinates of its

vertices.

o Watch Video Solution



https://dl.doubtnut.com/l/_XtCsOkFd9Ysa
https://dl.doubtnut.com/l/_2LySU9cD3vc0
https://dl.doubtnut.com/l/_gcio1GfWqVNM

166. Find the lengths of the medians of a ABC having vertices at

A(0, —1), B(2, 1)and C(0, 3).

o Watch Video Solution

167. Find the lengths of the medians of a ABC having vertices at

A(5,1), B(1,5) ,and C( — 3, — 1).

o Watch Video Solution

168. Find the coordinates of the points which divide the line segment

joining the points ( — 4, 0) and (0, 6) in four equal parts.

o Watch Video Solution

169. Show that the mid-point of the line segment joining the points

(5,7) and (3,9) is also the mid-point of the line segment joining the


https://dl.doubtnut.com/l/_f9QMamy39Pca
https://dl.doubtnut.com/l/_Qg70qKnhJSI0
https://dl.doubtnut.com/l/_ExQOdRpWqSd4
https://dl.doubtnut.com/l/_rfhilUVrwEJ7

points (8, 6) and (0, 10) .

o Watch Video Solution

170. Find the distance of the point (1, 2) from the mid-point of the line

segment joining the points (6, 8) and (2, 4) .

° Watch Video Solution

171.If A and B are (1, 4) and (5, 2) respectively, find the coordinates

of P when AP/BP = 3/4.

o Watch Video Solution

172. Show that the points A(1, 0), B(5, 3), C(2, 7) and D( — 2, 4)

are the vertices of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_rfhilUVrwEJ7
https://dl.doubtnut.com/l/_CjB80Yter7Lm
https://dl.doubtnut.com/l/_QE2z1RZCG1qn
https://dl.doubtnut.com/l/_Us3NhKlReegC

173. Determine the ratio in which the point P(m, 6) divides the join of

A( — 4, 3)and B(2, 8).Also, find the value of m .

o Watch Video Solution

174. Determine the ratio in which the point ( — 6, a) divides the join of

A(—3, 1)and B( — 8, 9) . Also find the value of a .

o Watch Video Solution

175. The line segment joining the points (3, —4) and (1, 2) is
trisected at the points P and @ . If the coordinates of P and @ are

(p, —2)and (5/3, q) respectively. Find the values of pand q.

o Watch Video Solution



https://dl.doubtnut.com/l/_uawY0N2e6kLZ
https://dl.doubtnut.com/l/_ref7j10Pjpgt
https://dl.doubtnut.com/l/_iZlbyS6lSDYq

176. The line joining the points (2, 1) and (5, — 8) is trisected at the
points P and @ . If point P lies on the line 2z — y + k = 0 . Find the

value of k.

o Watch Video Solution

177. If A and B are two points having coordinates ( — 2, — 2) and

, . 3
(2, 4) respectively, find the coordinates of P such that AP = 7AB .

o Watch Video Solution

178. Find the coordinates of the points which divide the line segment

joining A( — 2, 2) and B(2, 8) into four equal parts.

o Watch Video Solution



https://dl.doubtnut.com/l/_6Xe4UDtvEvU4
https://dl.doubtnut.com/l/_avtRZ4DWWuNT
https://dl.doubtnut.com/l/_EDvx8RzImz8R

179. A(4, 2), B(6,5) and C(1, 4) are the vertices of triangleABC .
The median from A meets BC in D . Find the coordinates of the point

D.

o Watch Video Solution

180. A(4, 2), B(6,5) and C(1, 4) are the vertices of ABC . Find the

coordinates of point P on AD such that AP: PD = 2:1.

o Watch Video Solution

181. A(4, 2), B(6,5) and C(1, 4) are the vertices of ABC . Find the
coordinates of the points 2 and R on medians BE and C'F respectively

such that BQ: QFE = 2:1and CR: RF = 2:1.What do you observe?

o Watch Video Solution



https://dl.doubtnut.com/l/_36xINcC4k5aN
https://dl.doubtnut.com/l/_ySRrqmCdWd8C
https://dl.doubtnut.com/l/_MvGjvBU8PuPg

182. ABCD is a rectangle formed by joining the points
A(-1, -1), B(—-1,4), C(5,4)and D(5, —1)-P, Q, Rand S
are the mid-points of sides AB, BC, C'D and DA respectively. Is the
quadrilateral PQRS a square? a rectangle? or a rhombus? Justify your

answer.

o Watch Video Solution

183. Show that A( — 3, 2), B(—5, —5), C(2, —3) and D(4, 4)

are the vertices of a rhombus.

o Watch Video Solution

184. Find the ratio in which the y-axis divides the line segment joining
the points (5, —6) and ( — 1, — 4).Also, find the coordinates of the

point of division.

o Watch Video Solution



https://dl.doubtnut.com/l/_tVjGPR92ynna
https://dl.doubtnut.com/l/_hGH7FTYnupdI
https://dl.doubtnut.com/l/_FIOdpdqtJTDt

185. If the points A(6, 1), B(8, 2), C(9, 4) and D(k, p) are the
vertices of a parallelogram taken in order, then find the values of k and

D.

o Watch Video Solution

186. In what ratio does the point ( — 4, 6) divide the line segment

joining the points A( — 6, 10) and B(3, —8)?

o Watch Video Solution

187. Find the coordinates of a point A , here AB is a diameter of the

circle whose centre is (2, — 3) and B(1, 4).

o Watch Video Solution



https://dl.doubtnut.com/l/_FIOdpdqtJTDt
https://dl.doubtnut.com/l/_XuVuQLiwj8JC
https://dl.doubtnut.com/l/_IRV1zDT7Osht
https://dl.doubtnut.com/l/_WyHrKB21AOcc

188. Find the ratio in which the point P( — 1, y) lying on the line
segment joining A( — 3, 10) and B(6, — 8) divides it. Also find the

value of y.

o Watch Video Solution

189. Points P, ), R and S divide the line segment joining the points
A(1, 2) and B(6, 7) in 5 equal parts. Find the coordinates of the points

P, Qand R.

o Watch Video Solution

190. Find the ratio in which the point P(x, 2) divides the line segment

joining the points A(12, 5) and B(4, — 3) .Also, find the value of «

o Watch Video Solution



https://dl.doubtnut.com/l/_JvOHbR5c2laQ
https://dl.doubtnut.com/l/_qClnHXElh6Ra
https://dl.doubtnut.com/l/_9VOWebHhRE0z

191. Find the ratio in which the line segment joining the points
A(3, —3) and B(—2,7) is divided by x-axis. Also, find the

coordinates of the point of division.

o Watch Video Solution

3 5
192. Find the ratio in which the point P(Z’ ﬁ) divides the line

1 3
segment joining the points A <§, 5) and B(2, -5).

o Watch Video Solution

193. Find the coordinates of the centroid of a triangle whose vertices

are (0, 6), (8, 12) and (8, 0) .

o Watch Video Solution



https://dl.doubtnut.com/l/_aKPQn5GmFYvv
https://dl.doubtnut.com/l/_y4Ly3JWLCZyN
https://dl.doubtnut.com/l/_PVVjVjrr1TxV

194. Find the centroid of the triangle whose vertices are: (i)

(17 4)7 (_ 17 - 1)’ (37 _2) (ii)(_27 3)7 (27 - 1)7 (4’ 0)

o Watch Video Solution

195. Two vertices of a triangle are (1, 2), (3, 5) and its centroid is at

the origin. Find the coordinates of the third vertex.

o Watch Video Solution

196.1f ( — 2, 3), (4, — 3) and (4, 5) are the mid-points of the sides of

a triangle, find the coordinates of its centroid.

o Watch Video Solution

197.In Fig. 14.40, a right triangle BOA is given. C'is the mid-point of the

hypotenuse AB . Show that it is equidistant from the vertices O, A


https://dl.doubtnut.com/l/_FcyQPJqP1Gmr
https://dl.doubtnut.com/l/_OOv5FOyPacll
https://dl.doubtnut.com/l/_AEYcRBilgAqG
https://dl.doubtnut.com/l/_zCsMNynAWVTI

and B . (FIGURE)

o Watch Video Solution

198. Find the third vertex of a triangle, if two of its vertices are at

(—3, 1)and (0, — 2) and the centroid is at the origin.

o Watch Video Solution

199. Find the area of a triangle whose vertices are A(3,2), B(11, 8)

and C(8, 12).

o Watch Video Solution

200. Find the area of the triangle formed by joining the midpoints of
the sides of the triangle whose vertices are (0, 1), (2, 1) and (O, 3). Find

the ratio of this area to the area of the given triangle.

| o Wiat~hh \tAaA CAaliikian



https://dl.doubtnut.com/l/_zCsMNynAWVTI
https://dl.doubtnut.com/l/_RPSGAtrp95a7
https://dl.doubtnut.com/l/_xoZI1nFeOsGd
https://dl.doubtnut.com/l/_qPLr0iqACqW1
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201. If P(1, 2), Q(1, 0) and R(O, 1) are the mid-points of the sides
AB, BC and AC respectively of ABC , find the coordinates of the

vertices A, B and C', and hence find the area of ABC'.

o Watch Video Solution

202. The vertices of ABC are A(4, 6), B(1, 5) and C(7, 2) .Aline is

drawn to intersect sides AB and AC at D and E respectively such that

AD—AE—I Calculate th f ADFE and it with th
1B - AC —1° alculate the area o and compare it wi e
areaof ABC'.

o Watch Video Solution

203. Find the area of the quadrilateral ABC'D whose vertices are

respectively A(1, 1), B(7, —3), C(12, 2) and D(7, 21).

o Watch Video Solution



https://dl.doubtnut.com/l/_qPLr0iqACqW1
https://dl.doubtnut.com/l/_tXa0nZEbb05U
https://dl.doubtnut.com/l/_Y5cU0cP51bzE
https://dl.doubtnut.com/l/_tLha7vfkV6D4

204. Prove that the points (2, —2), (—3,8) and (—1, 4) are

collinear.

o Watch Video Solution

205. For what value of z will the points (z, — 1), (2, 1) and (4, 5) lie

on a line?

o Watch Video Solution

206. Find the condition that the point (z, y) may lie on the line joining

(3, 4)and (— 5, —6).

o Watch Video Solution



https://dl.doubtnut.com/l/_tLha7vfkV6D4
https://dl.doubtnut.com/l/_tcZx6Gcfc8Pk
https://dl.doubtnut.com/l/_QOSMbcoaZBVO
https://dl.doubtnut.com/l/_nJCxIBKQMHAj

207. If the points (p, q), (m, n) and (p — m, ¢ — n) are collinear,

show that pn = gm .

o Watch Video Solution

208. Find k so that the point P( — 4, 6) lies on the line segment
joining A(k, 10) and B(3, — 8) .Also, find the ratio in which P divides

AB

o Watch Video Solution

209. If the coordinates of two points A and B are (3, 4) and (5, — 2)
respectively. Find the coordinates of any point P, if PA = PB, and area of

triangle PAB is 10.

o Watch Video Solution



https://dl.doubtnut.com/l/_tBoNOemQKuAT
https://dl.doubtnut.com/l/_ddgMRa4V4xg0
https://dl.doubtnut.com/l/_HjvXT0oG1ZfI

210. The coordinates of A, B, C are (6, 3), ( — 3, 5) and (4, —2)

respectively and P is any point (z, y) . Show that the ratio of the areas
T+y—2 }

of triangles PBC and ABC'is -

o Watch Video Solution

211.1f the points A(1, —2), B(2, 3), C(—3, 2) and D( —4, —3)
are the vertices of parallelogram ABCD , then taking AB as the base,

find the height of the parallelogram.

o Watch Video Solution

212. If the points P( —3, 9), Q(a, b) and R(4, — 5) are collinear

anda + b =1, find the values of a and b..

o Watch Video Solution



https://dl.doubtnut.com/l/_0BfF2iGDOLPJ
https://dl.doubtnut.com/l/_jFy7CFXNgXpk
https://dl.doubtnut.com/l/_5u38cBVVcdtV

213. Find the area of the triangle whose vertices are (6, 3), ( — 3, 5)
and (4, —2) (i) (atl2, 2at,), (at22, 2at;) and (at32, 2at;) (iii)

(a, ¢+ a), (a, ¢)and ( — a, ¢ — a)

o Watch Video Solution

214. Find the area of the quadrilateral whose vertices are

(—3,2), (5 4), (7, —6)and(—5, —4)

o Watch Video Solution

215. Find the area of the quadrilateral whose vertices taken in order are

A(—5, —3)B(—4, —6)C(2, — 1) and D(1, 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_uYPltLpg88CN
https://dl.doubtnut.com/l/_E7rpXxilD9E4
https://dl.doubtnut.com/l/_HO74AbTIjLgX

216. Find the area of the quadrilateral whose vertices are

(—4, —2), (-3, —5), (3, —2), (2, 3)

o Watch Video Solution

217. The four vertices of a quadrilateral are (1, 2), ( — 5, 6), (7, —4)
and (k, — 2) taken in order. If the area of the quadrilateral is zero, find

the value of k.

o Watch Video Solution

218. The vertices of ABC are (—2,1), (5, 4) and (2, —3)
respectively. Find the area of the triangle and the length of the altitude

through A .

o Watch Video Solution



https://dl.doubtnut.com/l/_bNwiwo7jpo7B
https://dl.doubtnut.com/l/_6ELRZAdbcG3L
https://dl.doubtnut.com/l/_erFe2NhBvYM8

219. Show that the following sets of points are collinear. (2, 5), (4, 6)

and (8, 8) (b) (1, — 1), (2, 1) and (4, 5).

o Watch Video Solution

220. Prove that the points (a, 0), (0, b) and (1, 1) are collinear if,

11
a b

o Watch Video Solution

221. The area of a triangle is 5. Two of its vertices are (2, 1) and

(3, — 2).The third vertex lies on y =  + 3. Find the third vertex.

o Watch Video Solution

222. Four points A(6, 3), B( —3, 5), C(4, —2) and D(z, 3x) are

DBC 1
ABC 29

given in such a way that


https://dl.doubtnut.com/l/_ykZGgFzpm1Ei
https://dl.doubtnut.com/l/_1USSKzwQgHjU
https://dl.doubtnut.com/l/_YLScLTXSbHi5
https://dl.doubtnut.com/l/_aDQyDJwLWhDG

o Watch Video Solution

223. For what value of a the point (a, 1), (1, — 1) and (11, 4) are

collinear?

o Watch Video Solution

224. Prove that the points (a, b), (a1, by) and (a — ay, b— by) are

collinear if ab; = a;b.

o Watch Video Solution

225. If (x, y) be on the line joining the two points (1, — 3) and

(—4, 2),provethatz +y+2=0.

o Watch Video Solution



https://dl.doubtnut.com/l/_aDQyDJwLWhDG
https://dl.doubtnut.com/l/_OujU84Sc1H2o
https://dl.doubtnut.com/l/_s4Y4UHcTJzQx
https://dl.doubtnut.com/l/_ku5hFKOIsuVL

226. Find the value of k if points (k, 3), (6, —2) and ( — 3, 4) are

collinear.

o Watch Video Solution

227. Find the value of k , if the points A(7, —2), B(5, 1) and

C(3, 2k) are collinear.

o Watch Video Solution

228. If the point P(m, 3) lies on the line segment joining the points

2
A( — = 6> and B(2, 8),find the value of m .

o Watch Video Solution

229. Find the value of k if the points A(8,1), B(3,-4) and C(2,k) are collinear.

| o Watch Video Solution


https://dl.doubtnut.com/l/_kjEOao9n9STn
https://dl.doubtnut.com/l/_kXTifqNlkGNQ
https://dl.doubtnut.com/l/_mrhCOyslRvUl
https://dl.doubtnut.com/l/_bc7bhIXKneJl

230. Find the value of a for which the area of the triangle formed by the

points A(a, 2a), B( — 2, 6) and C(3, 1) is 10 square units.

o Watch Video Solution

231.If the vertices of a triangle are (1, — 3), (4, p) and ( — 9, 7) and

its area is 15 sq. units, find the value(s) of p.

o Watch Video Solution

232.Find the area of a parallelogram ABCD if three of its vertices are

A(2, 4), B(2++/3, 5) and C(2, 6).

o Watch Video Solution

233.The points (k — 1, k + 2), (k, k + 1), (k + 1, k) are collinear for


https://dl.doubtnut.com/l/_bc7bhIXKneJl
https://dl.doubtnut.com/l/_CeIKYVMywmmB
https://dl.doubtnut.com/l/_PNgpgCNlt09Q
https://dl.doubtnut.com/l/_6fJKXl1FRIm1
https://dl.doubtnut.com/l/_wV3MFU1eiA8R

o Watch Video Solution

234.If the points A( — 1, —4), B(b, ¢) and C(5, — 1) are collinear

and 2b + ¢ = 4, find the values of band c.

o Watch Video Solution

235.1f P(—5, —3), Q(—4, —6), R(2, —3) and S(1, 2) are the

vertices of a quadrilateral PQRS, find its area.

© Watch Video solution

236. Find the area of the triangle PQR with Q(3, 2) and the mid-points

of the sides through @ being (2, — 1) and (1, 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_wV3MFU1eiA8R
https://dl.doubtnut.com/l/_ladwO6zeGJIJ
https://dl.doubtnut.com/l/_a4Z7wkw6OILE
https://dl.doubtnut.com/l/_x7WYvSjHCick

237. Write the distance between the points A(10cosf, 0) and

B(0, 10sin#) .

o Watch Video Solution

238. Write the perimeter of the triangle formed by the points

0(0, 0), A(a, 0)and B(0, d).

o Watch Video Solution

239. Write the ratio in which the line segment joining points (2, 3) and

(3, — 2)is divided by X axis.

o Watch Video Solution

240. What is the distance between the points (5sin60o, 0) and

(0, 5sin300) ?


https://dl.doubtnut.com/l/_luE5UX2NLVKZ
https://dl.doubtnut.com/l/_8V6YiulCBNQ3
https://dl.doubtnut.com/l/_OXiLt7WxHwqD
https://dl.doubtnut.com/l/_MAIAuWFRJ7qu

o Watch Video Solution

241.1f A(—-1,3), B(l, —1) and C(5, 1) are the vertices of a

triangle ABC', what is the length of the median through vertex A ?

o Watch Video Solution

242. If the distance between points (z, 0) and (0, 3) is 5, what are the

values of z ?

o Watch Video Solution

243. What is the area of the triangle formed by the points

0(0, 0), A(6, 0) and B(0, 4) ?

o Watch Video Solution



https://dl.doubtnut.com/l/_MAIAuWFRJ7qu
https://dl.doubtnut.com/l/_NaNiYxnCSMfj
https://dl.doubtnut.com/l/_A2USUq8kux5Y
https://dl.doubtnut.com/l/_TywdEV5Y5ohU

244. Write the coordinates of the point dividing line segment joining

points (2, 3) and (3, 4) internallyin theratiol :5.

o Watch Video Solution

245. If the centroid of the triangle formed by points P(a, b), Q(b, ¢)

and R(c, a) is at the origin, what is the value of a + b + ¢ ?

o Watch Video Solution

246. If the centroid of the triangle formed by points P(a,b),Q(b,c)
a? b? c?

and R (c,a)is at the origin, what is the value of — + — + —?
be ca ab

o Watch Video Solution

247. Write the coordinates of a point on X -axis which is equidistant

from the points ( — 3, 4) and (2, 5) .


https://dl.doubtnut.com/l/_fIHFLvUo7Guu
https://dl.doubtnut.com/l/_6r7jE9tmJQIs
https://dl.doubtnut.com/l/_kjMXOBICRpfg
https://dl.doubtnut.com/l/_ImIJkdnpCDC1

o Watch Video Solution

248. If the mid-point of the segment joining A(z, y+ 1) and

3 5
Bz +1, y+2) isC(E, 5) ,indz, y.

o Watch Video Solution

249. Two vertices of a triangle have coordinates ( — 8, 7) and (9, 4) . If
the centroid of the triangle is at the origin, what are the coordinates of

the third vertex?

o Watch Video Solution

250. Write the coordinates the reflections of point (3, 5) in X and Y -

axes.

o Watch Video Solution



https://dl.doubtnut.com/l/_ImIJkdnpCDC1
https://dl.doubtnut.com/l/_hutpxTKCmwEZ
https://dl.doubtnut.com/l/_7iF38z6wWbST
https://dl.doubtnut.com/l/_eljvkzxb5zVm

251. If points @ and R reflections of point P( — 3, 4) in X and Y axes

respectively, what is QR ?

o Watch Video Solution

252. Write the formula for the area of the triangle having its vertices at

(1, ¥1), (x2, ¥2)and (z3, v3) .

o Watch Video Solution

253. Write the condition of collinearity of points (z1, v1), (22, ¥2)

and (z3, ys) -

o Watch Video Solution

254, Find the values of x for which the distance between the point

P(2, —3)and Q(z, 5)is10.


https://dl.doubtnut.com/l/_c6b9cpRB6dDE
https://dl.doubtnut.com/l/_nDs6pyo2wI6S
https://dl.doubtnut.com/l/_4QXmOaTwALA4
https://dl.doubtnut.com/l/_KBTXlfjTG1VA

o Watch Video Solution

255. Write the ratio in which the line segment joining the points

A(3, — 6)and B(5, 3) is divided by X -axis.

o Watch Video Solution

8 2
256. Find the distance between the points ( - 2) and <3, 2)

o Watch Video Solution

257. Find the value of a so that the point (3, a) lies on the line

represented by 2z — 3y + 5 =0

o Watch Video Solution

258. What is the distance between the points A(c, 0) and B(0, —c¢)?


https://dl.doubtnut.com/l/_KBTXlfjTG1VA
https://dl.doubtnut.com/l/_M1Rvk8huUvzb
https://dl.doubtnut.com/l/_3jiuF0z3ARjj
https://dl.doubtnut.com/l/_wWgA49IACQRd
https://dl.doubtnut.com/l/_haD3Qu5vRuV9

o Watch Video Solution

259.1f P(2, 6) is the mid-point of the line segment joining A(6, 5) and

B(4, y) ,findy.

o Watch Video Solution

260. If the distance between the points (3, 0) and (0, y) is 5 units and

y is positive, then what is the value of y ?

o Watch Video Solution

261.If P(z, 6) is the mid-point of the line segment joining A(6, 5) and

B(4, y) ,findy.

o Watch Video Solution



https://dl.doubtnut.com/l/_haD3Qu5vRuV9
https://dl.doubtnut.com/l/_SBihtwLPLOwG
https://dl.doubtnut.com/l/_DbtdTu9waCfS
https://dl.doubtnut.com/l/_JJ41qAj1cqgM

262. If P(2, p) is the mid-point of the line segment joining the points

A(6, —5)and B( — 2, 11),find the value of p.

o Watch Video Solution

263. If A(1, 2), B(4, 3) and C(6, 6) are the three vertices of a

parallelogram ABCD , find the coordinates of fourth vertex D .

o Watch Video Solution

264. What is the distance between the points A(sinf — cos 6, 0) and

B(0, sinf + cos ) ?

o Watch Video Solution

265. The distance between the points (cos 8, sinf) and (sinf, — cos6)

is


https://dl.doubtnut.com/l/_V7pRTwwi6x43
https://dl.doubtnut.com/l/_M0eRflM9lPaQ
https://dl.doubtnut.com/l/_2s0pRzcCU8ha
https://dl.doubtnut.com/l/_P42StahX61xj

Answer: null

o Watch Video Solution

266. The distance between the points (acos25°, 0) and (0, acos65°)

is (a) a (b) 2a (c) 3a (d) None of these

o Watch Video Solution

267. If ¢ is a positive integer such that the distance between points

P(z, 2)and Q(3, — 6) is 10 units,then z = (a) 3 (b) —3(c) 9(d) —9

o Watch Video Solution



https://dl.doubtnut.com/l/_P42StahX61xj
https://dl.doubtnut.com/l/_FACSVP2cMtv2
https://dl.doubtnut.com/l/_VtWZJ4dF9A4Q

268. If the distance between the points (4, p) and (1, 0) is 5, then p =

(@) £4(b)4(c) —4(d) 0

o Watch Video Solution

269. The length of a line segment is of 10 units and the coordinates of
one end-point are (2, — 3). If the abscissa of the other end is 10, find

the ordinate of the other end.

o Watch Video Solution

270. The perimeter of the triangle formed by the points (0, 0), (1, 0)

and (0, 1)is 14 +4/2(b) /2 +1(c)3(d) 2+ /2

o Watch Video Solution



https://dl.doubtnut.com/l/_VtWZJ4dF9A4Q
https://dl.doubtnut.com/l/_u5awtZKbC4Rz
https://dl.doubtnut.com/l/_VHaYTJFnrgX1
https://dl.doubtnut.com/l/_648QA3Pe1ZER

271. If three points (0, 0), (3, v/3) and (3, A) form an equilateral

triangle, then A = (a) 2 (b) —3 (c) —4 (d) None of these

o Watch Video Solution

272. If the points (k, 2k), (3k, 3k) and (3, 1) are collinear, then k (a)
2

1 b 1 2 q
g( )—g(c)g( )—g

o Watch Video Solution

273.The coordinates of the point on X -axis which are equidistant from
the points ( — 3, 4) and (2, 5) are (a) (20, 0) (b) ( —23, 0) (c)

<§, O) (d) None of these

o Watch Video Solution



https://dl.doubtnut.com/l/_e9RJYLMpOfCp
https://dl.doubtnut.com/l/_PESUaWXJEyn2
https://dl.doubtnut.com/l/_3qxq1DfBgof5

274. If (—1, 2), (2, —1) and (3, 1) are any three vertices of a
parallelogram then the fourth vertex (a,b) will be such that (a) a=2 , b=0

(b) a=-2,b=0 (c) a=- 2, b=6 (d) a=0, b=4

o Watch Video Solution

275.1f A(5, 3), B(11l, —5) and P(12, y) are the vertices of a right
triangle right angled at P ,theny = —2, 4(b) —2, —4(c)2, —4(d)

2, 4

o Watch Video Solution

276.1f (z, 2), (—3, —4)and (7, —5) are collinear, then z = (a) 60

(b) 63 (c) -63 (d) -60

o Watch Video Solution



https://dl.doubtnut.com/l/_PoTJ9wyeYyIN
https://dl.doubtnut.com/l/_jXSeYHIgMRVV
https://dl.doubtnut.com/l/_y6wTn48pVm9y

3
277.1f points (¢, 2t), ( — 2, 6) and (3, 1) are collinear, then t = (a) 1

022 @?
3939y

o Watch Video Solution

278.If the area of the triangle formed by the points (z, 2z), ( — 2, 6)

2 3
and (3, 1) is 5 square units, then z = (a) 3 (b) 5 ()3(d)5

o Watch Video Solution

1 1
279. If points (a, 0), (0, b) and (1, 1) are collinear, then < + 7=

(@1(b)2(c)o(d) -1

o Watch Video Solution

280. If the centroid of a triangle is (1, 4) and two of its vertices are

(4, —3)and ( —9, 7),then the area of the triangle is 183 sq. units (b)


https://dl.doubtnut.com/l/_TqwzNJzGkWdp
https://dl.doubtnut.com/l/_j7uO8hEy9Nna
https://dl.doubtnut.com/l/_JJTjhd0CHFyQ
https://dl.doubtnut.com/l/_WVIlciqYJMPg

183 . ) 183 .
=N sg. units (c) 366 sq. units (d) e sq. units

o Watch Video Solution

281. The line segment joining points ( —3, —4) , and (1, —2) is

divided by y-axis in theratio(a) 1 : 3(b)2:3(c)3:1(d)2:3

° Watch Video Solution

282. The ratio in which (4, 5) divides the join of (2, 3) and (7, 8) is

—2:3(b)—-3:2()3:2(d)2:3

o Watch Video Solution

283. The ratio in which the x-axis divides the segment joining (3, 6) and

(12, —3)is(@)2:1(b)1:2(c) —2:1(d)1: —2

o Watch Video Solution



https://dl.doubtnut.com/l/_WVIlciqYJMPg
https://dl.doubtnut.com/l/_9JocEnnVFOJL
https://dl.doubtnut.com/l/_UMRTWrxhYy53
https://dl.doubtnut.com/l/_yXRzOg83U7HE

284. If the centroid of the triangle formed by the points (a, b), (b, ¢)
and (¢, a) is at the origin, then ad+ 8+ = abcb)0(@a+b+c

(d) 3 abc

o Watch Video Solution

285. If points (1, 2), ( — 5, 6) and (a, — 2) are collinear, then a =

(@—3(b) 7(c)2(d) -2

o Watch Video Solution

286. If the centroid of the triangle formed by (7, z), (y, — 6) and
(9, 10) is at (6, 3) , then (z,y)= (a (4, 5) (b) (5, 4) ()

(=5, —2)()(5, 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_yrldgmOv6Ww3
https://dl.doubtnut.com/l/_iaCHUlDhV7Iq
https://dl.doubtnut.com/l/_JpwTR2M0BpCf

287. The distance of the point (4, 7) from the x-axis is (a) 4 (b) 7 (c) 11

(d) /65

o Watch Video Solution

288.The distance of the point (4, 7) from the y-axis is 4 (b) 7 (c) 11 (d)

/G5

o Watch Video Solution

289. If P is a point on x-axis such that its distance from the origin is 3
units, then the coordinates of a point Q on OY such that OP = 0Q,

are (a) (0, 3) (b) (3, 0) (c) (0, 0) (d) (0, — 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_37GliU296qvj
https://dl.doubtnut.com/l/_PezNOkSi5mVZ
https://dl.doubtnut.com/l/_CrAoh8BXfPnb

290. If the point P(z, y) is equidistant from A(5, 1) and B( — 1, 5),

then (a)5z = y(b) x = 5y (c) 3z = 2y (d) 2z = 3y

o Watch Video Solution

291. If points A(5, p), B(1, 5), C(2, 1) and D(6, 2) form a square

ABCD ,thenp = (a)7(b)3(c)6(d) 8

o Watch Video Solution

292. The coordinates of the circumcentre of the triangle formed by the

points O (0, 0) , A(a, 0) and B(0, b) are (a, b) (b) (%, g) (c)
b a
(57 5) (d) (ba O,)

o Watch Video Solution



https://dl.doubtnut.com/l/_xtrv1KeeX9fy
https://dl.doubtnut.com/l/_0Dc5NdjNPeVR
https://dl.doubtnut.com/l/_zVqYp538kpRq

293. The coordinates of a point on x-axis which lies on the perpendicular
bisector of the line segment joining the points (7, 6) and ( — 3, 4) are

(0, 2) (b) (3, 0) (c) (0, 3) (d) (2, 0)

o Watch Video Solution

294. If the centroid of the triangle formed by the points (3, — 5),

(—17,4), (10, — k) is at the point (k, — 1),then k =

o Watch Video Solution

295.If ( — 2, 1) is the centroid of the triangle having its vertices at
(z, 0), (5, —2), (—8,y), then =z, y satisfy the relation

3z +8y=0(b)3x — 8y =0(c)8x + 3y =0(d) 8 = 3y

o Watch Video Solution



https://dl.doubtnut.com/l/_lVmuPOAufYTO
https://dl.doubtnut.com/l/_cCPGGsGrDdLt
https://dl.doubtnut.com/l/_zCpf735ffLVz

296. The coordinates of the fourth vertex of the rectangle formed by the
points (0, 0), (2, 0), (0, 3) are (a) (3, 0) (b) (0, 2) (c) (2, 3) (d)

(3, 2)

o Watch Video Solution

297.The length of a line segment joining A(2, — 3) and B is 10 units. If
the abscissa of B is 10 units, then its ordinates can be (a) 3 or —9 (b)

—30r9(c)60or27(d) —6or —27

o Watch Video Solution

298. The ratio in which the line segment joining P(x;, y;) and

Q(x3, yo) is divided by x-axis is (a) y1: ya (b) y1: Y2 (€) T1: x5 (d) z1: o

o Watch Video Solution



https://dl.doubtnut.com/l/_CMY5FPHW0hsP
https://dl.doubtnut.com/l/_gQ4txMLPFMDv
https://dl.doubtnut.com/l/_GFNPQiFmVt6B

299. The ratio in which the line segment joining points A(a, b;) and
B(as, by) is divided by y-axis is (a) —aj:as (b) aj:as (c) by:by (d)

—b12b2

o Watch Video Solution

300. If the coordinates of one end of a diameter of a circle are (2, 3)
and the coordinates of its centre are ( — 2, 5) , then the coordinates of
the other end of the diameter are (a) ( — 6, 7) (b) (6, — 7) (c) (6, 7)

(-6 -7

o Watch Video Solution

301. The coordinates of the point P dividing the line segment joining
the points A(1, 3) and B(4, 6) in the ratio 2 : 1 are (2, 4) (b) (3, 5)

(c) (4, 2) (d) (5, 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_977lAtiQashu
https://dl.doubtnut.com/l/_JYv31SiDDJb0
https://dl.doubtnut.com/l/_GvPqeq1tY29z

302.In Fig., the area of ABC (in square units) is (a) 15 (b) 10 (c) 7.5 (d)

25

o Watch Video Solution

303. The point on the x-axis which is equidistant from points ( — 1, 0)
and (5, 0) is

A.(a) (0, 2)

B. (b) (2, 0)

C.(9 (3, 0)

D.(d) (0, 3)

Answer: null

o Watch Video Solution



https://dl.doubtnut.com/l/_GvPqeq1tY29z
https://dl.doubtnut.com/l/_Dx8h1n2sV0Vg
https://dl.doubtnut.com/l/_9Z0qTLIJJt7X
https://dl.doubtnut.com/l/_9Y2wKAUqdKIy

304.1f A(4, 9), B(2, 3) and C(6, 5) are the vertices of triangle ABC
, then the length of median through C'is (a) 5 units (b) ¢E units (c) 25

units (d) 10 units

o Watch Video Solution

305. If P(2, 4), Q(0, 3), R(3, 6) and S(5, y) are the vertices of a

parallelogram PQRS , then the value of yis (a) 7 (b) 5 (c) -7 (d) -8

° Watch Video Solution

306. If A(z, 2), B(—3, —4)and C(7, —5) are collinear, then the

value of z is

o Watch Video Solution



https://dl.doubtnut.com/l/_9Y2wKAUqdKIy
https://dl.doubtnut.com/l/_i3soPr9FzpdN
https://dl.doubtnut.com/l/_RafPD7KCipxx

